H £ 0l & AF & S

20238 =0ila LERIH MSAH A

Al A

FA MSAIEA
3 HHE HSALE2E
Rl MsAEE 29 2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
M= AR A 16,374,845 25,612,509 10,237,664
Jl 458,062
== 3,451,593
[Ea 11,465,190
HEE MSAL2Y 2,932,455 3,200,067 A267,602
= 270,000
Ea 2,662,455
HEAE2 2 2l 2,122,816 2,152,162 N29,346
=S 270,000
s 1,852,816
SSHHISAE 2l 138,696 136,172 2,524
101 ©1AH| 26,524 25,680 844
04 JIZtN2Z2XNSE+ 26,524 25,680 844
O2ztH=HE SH8Hl A2 26,524
= 77,0002 x1H#249 19,173
=5+, 7284, <
77,0003 x 1 »63 4,851
A2 E 2,500,000 2,500
201 =3 84,972 86,892 1,920
01 At22t2l] 15,652 17,572 21,920
Oget=ZH| 10,852
S8 EYH & =8 uAl
200,000 x4 5+33] 2,400
-HCEE 2 SX S Ed E3 7
500,000 42| 2,000
-HAE NEH & 425 7Y
40,0003 *x105*42] 1,600
-d=d & 2AMSHE A2S 7Y
120,000& * 122 1,440
-HEALES P
100,000& x105+22] 2,000
-HALE MDISE 7Y
1,4403 x4 *102+ 123 692
-HIGI Xt 30,000 »2CH =128 720
o=l 4,800
-HMSAESHRFA ORI2Z2A =4
8,000+ 120! 4,800
02 35244l 69,320 69,320 0
O=32=  HAl 55,300
- HFHE AMEE JIIRsS
4,000,000& 123 48,000
—=HHFHE AEE =23
300,000 * 128 3,600
-85t & SHes 300,000 * 122 3,600
-2 HEE 2| 100,000 *12 100




A HEAE A
M YPHE HSAME2S

o°Hel: HsAdE2 29 22 CEREED
(=] « NZH . Cl(S . S A IHAMHEZ | OH ST Hln=2t

] 14,020

o - 2,000,000 *49H 2 8,000
“HEEHI 7X2el
300,000& x55*22 3,000
-2+FSAE =4
1,000,000& %12 1,000
-=H |X2 140, 0003 +8CH 1,120
-S8J |2 900,000 *1CH 900
202 044l 13,000 15,400 A2,400
01 =LHOLI 13,000 15,400 2,400
ONMSTUEHHYUR JI=0
100,000& x5~ 123 6,000
Og=zgR FaobI 7,000,000 7,000
203 gR=2| 4,000 3,000 1,000
03 AIF=&IH 2= 4,000 3,000 1,000

4,000,0009! 4,000
206 THZ b 5,200 5,200
01 THZHI 5,200 5,200
O+AIE U ASOHH 7
100, 0008 +55 23] 1,000
Otl&eE Py 50,0008 +5523] 500
Oogal SXl %2 7Y 1,000,00024 14} 1,000
OHIE SXE% Ha 7
1,500,00024 14} 1,500
OSSHSHE 25 H78 2
12,0002 +500H %225 1,200
405 TarE St 5,000 0 5,000
01 ‘AL ZZH S| 5,000 0 5,000
ONgxEY =280 7Y
5,000, 00024 +1CH 5,000
FZHLEA A 576,520 525,790 50,730
101 21218 9,070 86,340 3,730
04 JRIN22TS 24 9,070 86,340 3,730
OY2H HENY S IRy 74,070
I 77,0002 724 %1302 70,070
-4} 28 4,000,0002! 4,000
OIAFA(MEI] S) oRY
100, 00024 +82*202 16,000
201 LBr2 | 79,300 49,300 30,000
01 AL 22| 54,700 24,700 30,000
OgstagH| 14,700
T Y2OHS BY HAO M

60,0003 *10JH 2-+82 4,800




2A:

AL A

3 HHE HSALE2E
Rl MsAEE 29 2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
St YN 2 MIH
100, 000& x4 5 +63] 2,400
“HIIAE HIIZA =22
1,000,000 *14] 1,000
P 3ol s4 ADE 7Y
500,000 55 2,500
3ol =4 012 MIE
10,0003 #5071 *82] 4,000
OZ2=ZLI s &4yl 10,000,000& * 14 10,000
Ozs =zl 2z K&
500,000 60 30,000
2 35244l 24,600 24,600 0
O=32= & HAl 1,600
“22F OIBNET PEE
100,000& %12 100
U2 =Y Q4Hel 2B
1,500,0002 %12 1,500
OAlZ &I Xl 18,000
&2l DAl & RAl2el
150, 0003 x55+43] 3,000
-2dEsd & RA2
3,000,000 *57H 2= 15,000
Oxtgr=z Il 5,000
-SE FA2 5,000,000 = 1CH 5,000
206 M=l 26,150 26,150
01 MZH| 26,150 26,150
O&L M=H & gHet 2
80,0002 x565+83] 3,200
Oo&d Hlg 7 13,0002 * 150X 1,950
O=Z4g &d + 10,0002 300M’ 3,000
O2E £272| =Yl P
10,0003 *300% 3,000
Ol MFESZIMNS OHALE 7
50,000& »300m* 15,000
207 AR 10,000 10,000
01 H7ESHI 10,000 10,000
OZXNEHH 28 dH 89
10,000,000 * 14| 10,000
307 elztol & 331,000 324,000 7,000
02 2B YAIHE £ 187,000 187,000 0
Ostud=s 54 A&
12,000,000 *6H 2= 72,000
Ogd=z 2+ |54 A&
50,000,000 »14! 50,000
Og=zl= & dXled RAES XN
25,000,000& * 14 25,000




SN HISAR A
3 HHE HSALE2E
el HSALE 29 22 (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Odflel AXXDIHE FE(23)
40,000,000 * 14 40,000
03 PIZHHEE 22X 27,000 20,000 7,000
OZ=Y28s 2y =
27,000,000 *14! 27,000
04 QIZIHAIAIH E X 47,000 47,000 0
O3Ual Mzl X 47,000,000& *14] 47,000
05 2ItRIE =3 70,000 70,000 0
OZHEHH f&2el
70,000,000 *14] 70,000
401 Al HIYL S CHYI 40,000 40,000
01 A28l 40,000 40,000
Ogd=zd =8 g+ 88 & SaE dX
30,000,000 *14! 30,000
O3 =8 = LMl At
10,000,000& * 14| 10,000
SUSAHW A=Y= i 90,000 90,000 0
307 21201 & 90,000 90,000
04 BIZIHAIAI 2 X 90,000 9,000
ON2ZNYBAUIZI| B2 Y203 =
A& 90,000,000 * 14 90,000
A=A UH2HE X 90,000 90,000 0
== 30,000
[Ea 60,000
307 212+01& 90,000 90,000 0
< 30,000
s 60,000
04 CIZHHANAIS 2 X 90,000 90,000 0
OZE= XA d=2=232=a03 Hz X2
90,000,000& » 14 90,000
= 30,000
Ea 60,000
ANYRSTIIR(¢3) |4 N 1,215,000 1,300,000 /85,000
== 240,000
o 975,000
301 22N = 1,215,000 1,300,000 /85,000
< 240,000
= 975,000
Rzt - 2SFS2EdsS 1,215,000 1,300,000 85,000
Ogd=za g 29 1,215,000,000& x14] 1,215,000
= 240,000
= 975,000
AR X NERE 2el 12,600 10,200 2,400
201 er=23y| 12,600 10,200 2,400




2A:

H=AH

3 S Hltq/\I/é—‘i-
el HMSAE2 29 2l EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2teltl 9,600 7,200 2,400
Odgt==H| 9,600
=t&d X & HLEF 7Y
300,000 43 1,200
-2eXclAE R ez
700,000 * 122 8,400
2 35244l 3,000 3,000 0
OAlE &I Xl 3,000
-2aXelAlE =4 500,000 x22| 1,000
-HMEAd=E RAE
2,000,000 *14] 2,000
M=seiuet 2= 809,639 1,047,895 A238,256
HEMSE |54 N 557,639 501,144 56,495
307 elztol & 557,639 501,144 56,495
02 2B A HE L 334,639 299,000 36,639
ORsd+ |4 A=A X2
54,000,000& » 14 54,000
O & Wlsd &
12,000,000 * 14 12,000
O=2MaE &84l X
220,000,000 *14] 220,000
OZOHE Ul Sads S& X
20,000,000& » 14 20,000
OM=zl & X XA Hgf 235t
13,000,000 * 14 13,000
ONM=sEY Alal HEs5 K&
1,203,0002 x1&* 132 16,639
03 M EE2SHIEX 223,000 202,144 20,856
OM=3 244l X&
210,000,000 » 14 210,000
OMEMEXN A SEANHS
500, 0002 « 13 22 13,000
Zoie! Ms =4 N2 20,000 17,000 3,000
307 212+01& 20,000 17,000 3,000
02 LB HAHE L 20,000 17,000 3,000
OZ0ie! HMOoi0tet=tHal It A&
100,000&x20E «12] 2,000
Ok e M=zl &It X3
15,000,000 * 14 15,000
Od= XNHMHEMHS HM=CHal &It X2
3,000,000 *14] 3,000
= & X 102,000 36,000 66,000
307 elztol & 102,000 36,000 66,000
02 B A HE L 102,000 36,000 66,000
Osd 2+ X& 20,000,000& * 14| 20,000




A HEAE A

M NS M=SAE2F
i S e e EER=E)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
OSY M=al 8435 At
42,000,000 *14] 42,000
OF3d S=HHM 23 tal ot & izl
X2 20,000,000 14| 20,000
OHS3 ZSLH SYATZ2Y 54 X8
20,000,000 14! 20,000
MSALdE &5 & 22 130,000 180,000 A50,000
401 A& HIZ20HYI 130,000 180,000 A50,000
01 Al&HI 130,000 180,000 A50,000
Ont2 OtRI2SII7 &1
100,000,000 * 14! 100,000
Od=d & AZXSSUMEZ AlE RAl
S 30,000,000 14 30,000
NEM=s =48Xd 10,246,867 18,425,002 AB,178,135
J| 331,062
= 3,181,293
= 6,734,512
AZXOIAE 2dst 2,308,600 1,784,100 524,500
& 150,000
= 2,158,600
AZXOIAE MSEH XI& 791,000 785,000 6,000
307 212+01™ 791,000 785,000 6,000
02 QIZHBAAIE E X 506,000 493,000 13,000
Qudigs 2t A& &It K2
100,000 *10E 33| 3,000
OXIXtA 2t MeEXs s X
3,000,000 14 3,000
Ok & MEMsU=sE It KA
90,000,000 14! 90,000
OZXAD =28 MEMSsHa =8l X&
(18855) 50,000,000& * 14! 50,000
Od=s 24 MEH=UZ &It NA(1085)
20,000,000 * 14! 20,000
O&d= sgEsa4d=AU3 izl XI&
20,000,000 14! 20,000
O&d=s 28Xd s4U3 iz X2
20,000,000 14 20,000
O usZth = - = F2H0tetEUS 4=
X3 25,000,000 14! 25,000
O SAUSI(0IAION0 ) 29 L &X
=8 | 23| 70,000,000 *14] 70,000
Ol AZX0IHE FI(SA)
20,000,000 14| 20,000
OlstsaAY NSSHMEH 245 X2
120,000,000 14 120,000
OlgrsaAY a-dst Y X
23,000,000& 14! 23,000




2A:

AL A

33 Ng9H=s s8Xd
Chel: ALX0OPIE 435t EER=E)
. = SIE]
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
Of= & & &9 =20z I XA
7,000,000 14| 7,000
OS2XS AIZ(BHASF) A==l hAl
A& 7,000,000 14] 7,000
OA& 222U &0t X2
3,000,000 *14] 3,000
OdExM= HolE=Uz=l ot K&
10,000,000& » 14 10,000
O== Z&=el1 It X
3,000,000 %14 3,000
O NEZ 23l &It XA
3,000,000 *14] 3,000
ONENHY A=z =& XA
3,000,000 14| 3,000
O=skud 29 XN& 3,000,000 14| 3,000
O2=Ua(d= & & &9) &8 N
3,000,000 *14] 3,000
04 QIZFHAMALE 22 285,000 292,000 /7,000
O=H =2 4EH=s HOE=U= Nzl X2
20,000,000& » 14 20,000
Od= HEH= HLIAWR Nzl X2
20,000,000 * 14! 20,000
OdEH= Atalel o203 JHEl X
10,000,000 * 14 10,000
OUAEZ==t 8=2Rad =208 HE X2
40,000,000 *14] 40,000
O SEUY d2MsU=l W2l X2
2,000,000 +14 2,000
O=2l A2ZJ U=l HAH HEl X
15,000,000 * 14 15,000
OEFEAl Sdi2 JEAZZI (U= W
A& 30,000,000& » 14 30,000
OM=+8 JetZk izl A&
30,000,000 *14! 30,000
OZs 3= gsHial Nz XA
3,000,000 *14] 3,000
Old ==t 2& deN=Usl JHzl XA
115,000,000 *14] 115,000
HSSA 28 71,600 59,100 12,500
201 Zet=Ehl 61,800 49,300 12,500
01 AtR2t2|HI 61,800 49,300 12,500
Oget=ZH] 44,500
“2E ASME L MAEY BE B0t HE
100,000 #1504 2=+ 123 18,000
240 MEHSHE 25T R
500,000 *37H 1,500
~SAFNEY RX 22 ML M
10,0002 *500H 5,000




FA MSAIEA
3 NgHs s4dXA3
Chel: AXXOIANE 243 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
HENR 222 A0 2ERE 7Y
10,000,000& » 14 10,000
—SNAERE BB
10,000,000& * 14! 10,000
O= gl 4,800
HSHA AREZ ORIZST DA
8,000 x4 » 150! 4,800
OAZSAMS 2IZ T2
500,000 x5! 12,500
202 04| 9,800 9,800
01 =LHOHI 9,800 9,800
OAZ=[0PIEE H2 JI=20iH]
100,000& x4~ 123 4,800
OZ&U= & dXled | =20
3,000,000& 3,000
OAR=OPDIEE 7 A0
2,000,000 2,000
O =aXl 8= =510 ==0tetE U2l = 90,000 90,000
307 212+01& 90,000 90,000
04 QIZIHAIAIH E X 90,000 90,000
Oud =it 8= S0 S=0ieE U2l
M=l X2 90,000,000& * 14| 90,000
ZH &= =10 Szl 180,000 180,000 0
307 el2tol & 180,000 180,000
04 CIZHHAMAMH 2 & 180,000 180,000
O£ ®=2 51 SYUE W2 X
180,000,000 *14] 180,000
A=A/ Fa430I03 izl 100,000 100,000 0
307 @I2to| & 100,000 100,000
04 QIZHHAIAIH E X 100,000 100,000
Od=4g/Uss4FIIU8 Wzl XA
100,000,000 * 14! 100,000
KBSHH &==&ZDI0Hal JHEl K& 220,000 220,000 0
= 100,000
o 120,000
307 elzto| & 220,000 220,000 0
= 100,000
[Ea 120,000
04 QIZHHAMAIH 2 £ 220,000 220,000 0
OKBSH M=SaZJ|U=l HEXIE
220,000,000 *14] 220,000
< 100,000
[Ea 120,000
NER2STIIR(SY) |4 X2 506,000 350,000 156,000
= 50,000




2A:

AL A

3 NgHs s4dXA3
Chel: AXXOIANE 243 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[Ea 456,000
301 EetE2 NS 506,000 350,000 156,000
=S 50,000
s 456,000
Rzt - 2SFsS2Ed=s 506,000 350,000 156,000
Osae g 29 506,000,000 *14] 506,000
< 50,000
Ea 456,000
HEZt 8= AZEE SAAIIUE HE XA 100,000 0 100,000
307 elztol & 100,000 100,000
04 CIZHHAMAIH 2 & 100,000 100,000
OUE Tt 8= AZRIE SAZHIIUS
M=l X3 100,000,000 *14] 100,000
Ol =+ HAE Wzl K& 250,000 0 250,000
307 @120l & 250,000 250,000
04 QIRHHAMAIH 2 £ 250,000 250,000
Oolld == HIAEF W=l XI&
250,000,000& *14] 250,000
dEH=E |4 638,764 527,332 111,432
J| 331,062
== 31,293
o 276,409
=W 29 24,000 19,200 4,800
< 6,000
= 18,000
307 elztol & 24,000 19,200 4,800
= 6,000
= 18,000
02 2IZHBHAIHE & 24,000 19,200 4,800
odgrsue 29 N&H
2,400,000 105 24,000
= 6,000
o 18,000
UBMS TSI SA BIXI (2 SXIE) 213,696 207,4%4 6,202
Jl 106,848
T 106,848
307 glztol & 213,696 207,44 6,202
Il 106,848
= 106,848
02 2B HAIHE X 213,696 207,44 6,202
OSSN HHXI X2
30,528,000& x7H 213,696
) 106,848
[Ea 106,848




2A:

X XH -
o=

AL A
ANgGM=s sdXE

ool dEHs =4 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
HEMMSUSXSI IXI(2SXIHA) 162,640 148,206 4,434

Jl 76,320
= 76,320
307 el2tol & 152,640 148,206 4,434
) 76,320
[Ea 76,320
02 QIZHEAAEE X 152,640 148,206 4,434
ONZAMEMSEXN AL BIXI XA
30,528, 000& +5& 162,640
Jl 76,320
[Ea 76,320
A2 M| XNTA WsSdl X2 14,400 14,400 0
= 4,320
= 10,080
307 elztol & 14,400 14,400 0
= 4,320
Ea 10,080
02 2B YA AR A 14,400 14,400 0
OMEBHSNEN DY X2
100,0002 x12& %122 14,400
== 4,320
o 10,080
AERAMO0ISHE K 165,300 85,000 80,300
J| 115,710
== 14,877
o 34,713
301 22N = 165,300 85,000 80,300
Jl 115,710
= 14,877
o 34,713
01 Al EEHS(FRDEXMA) 165,300 85,000 80,300
OAEZ=2AR0ISH M K&
165,300,000 * 14! 165,300
7l 115,710
= 14,877
[a 34,713
HEHNSEN A 252X E 11,980 13,520 1,540
< 3,594
[a 8,386
307 212+01& 11,980 13,520 1,540
& 3,594
= 8,386
02 2IZHB A E £ 11,980 13,520 1,540




2A:

AL A

3 NEHs s4dXA3
ool dEHs =4 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OMENSNENF I 2E+I A
11,980,000 » 14 11,980
= 3,594
Ea 8,386
ZOHQIME S X=X BHXI(ZSXIY) 30,528 29,642 886
Il 15,264
o 15,264
307 212+01& 30,528 29,642 886
Jl 16,264
T 15,264
02 B HAHE L 30,528 29,642 886
OZ A MEMS X=X BHXI K&
30,528,000 x1H 30,528
Jl 15,264
[Ea 16,264
Al S0l HMSN =L wSHl A& 1,200 1,200 0
s 360
s 840
307 212+01& 1,200 1,200 0
& 360
[Ea 840
02 2B A HE L 1,200 1,200 0
O MEHSXEN WsSH X
100,000 x 12 %123 1,200
= 360
= 840
JOHAALZZHO|ED At X2 22,800 6,800 16,000
Il 15,960
= 2,052
s 4,788
301 EtE N = 22,800 6,800 16,000
) 15,960
= 2,052
s 4,788
01 A2 HSFS(RDNEERTH) 22,800 6,800 16,000
OHOMHAAZ=ZHOISH At K&
22,800,000& x 14 22,800
Il 15,960
== 2,052
= 4,788
HEHNSXN A 2282 N 1,920 1,870 50
Jl 960
Ea 960
307 el2to| & 1,920 1,870 50




SA: HSARL
3 NEHs s4dXA3
ool dEHs =4 EER
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 960
= 960
02 2IZHBHAIHE X 1,920 1,870 50
OdEMsNCA 2s28= NE
160,000& * 12 1,920
Jl 960
a 960
NI MM ESXN X HII2E5-E X 300 0 300
== 0
o 210
307 212+01& 300 0 300
< 0
[Ea 210
02 LB AL Ex 300 0 300
OZ MMM S A ZI|I2E+RE
300,000 *14] 300
S 0
Ea 210
H=AE &S 4,424,443 13,893,790 N9,469,347
=S 2,600,000
o 1,824,443
HIEAEICIES 2l 793,443 993,790 A200,347
101 e124d| 63,243 44,030 19,213
M ORNZZ2NSE S 63,243 44,030 19,213
OUEAEICE & SHal=sdy 238yl
gy 52,848
-Jl=s 77,0003 x2EH #2492 38,346
-F8ag, dileg S
77,0003 x2E 63! 9,702
-“AUHES 200,000 x2E~12& 4,800
OZ&U= =l XNH € G=&g 2RY
77,0003 x5 +x32 %92 10,3%
201 fer23| 282,200 274,760 7,440
01 AtR2t2|HI 65,400 71,400 26,000
Odgt+=H| 65,400
StEA 2 HAZ SEA 7Y
100,000& x105+52] 5,000
St Y 2 MIH 7
500,000& * 122 6,000
-SA42I|A(223) 7Y
1,100,000& * 155 16,500
-HAES FY 100,000& x10&+53] 5,000
-HAEAECS 25 87 2 =2XED] WA
30,0003 *25JH x22] 1,500




2A:

AL A
ANEHE S92
5

=HF o
=Rl HSsAlE #F EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
-HelH B 2 =8 WA
150, 000& #5IH*43] 3,000
-BIGl Xt 25,0002 +8CH* 12 2,400
- 7Y 500,000& * 122 6,000
OIEAEIE 22U S Yo B
20,000,000& * 14| 20,000
02 s5=34l 216,800 203,360 13,440
O332= € HAl 173,720
-dotee 2= 4,000,000& 123 48,000
—HHEAECIS ®II23
10,000,000& «12& 120,000
-Ste3 210,000 122 2,520
-2at2el Xt 2l 100,000 22 200
-2 Xl =HE 1,500,0002 *23] 3,000
Ogzh| 6.480
-HIEAEIDS HY [F
1,800 xBAI 2E*3CH* 150 6,480
OAlZ &8I Xl 30,600
-HIEAECIS COTV = Al2te]
150,000 2004 2 3,000
- EAEICS YEEHl FA2el
500,000& <22 1,000
-2E JIH |2
300,000 x65+23] 3,000
-HEAEL S MSEAEd=E 72
20,000,000& *14! 20,000
-SaEJ|F A2 600,000 62 3,600
OXt& =Xl 500,000& 122 6,000
206 MH=Hl 12,000 10,000 2,000
01 MZH| 12,000 10,000 2,000
OMZ=M & SHe &
20,0003 105102 2,000
O3 .blg & &0 28
100,000& x105+52] 5,000
OUEAEILS &0 42E OIME 7Y
3,000,000 14| 3,000
O3+ ¢ 22 Me 7
100,000 x105+23] 2,000
307 21201 & 65,000 65,000
05 2IR”IRIE = 65,000 65,000
OUEAEICIS JIH&EH et 2te| 98 89
65,000,000 * 14| 65,000
401 Al HIZL 2018 371,000 665,000 204,000
01 Al&HI 371,000 665,000 294,000
OWEAEIL=E =Xt &Hl
350,000,000 x 14 350,000




SN HISAR A
3 NgHs s4dXA3
Rl HSAE &S EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OUEAEICIS Qe S4l&H £X
16,000, 00021 14! 16,000
OLRIFDIE thaz =yl W 224 27l
5,000,000 * 14 5,000
UesAY DSEHAMYH HE(HEAY) 3,631,000 10,000,000 6,369,000
< 2,600,000
T 1,031,000
401 Al HIZL 201 3,631,000 10,000,000 26,369,000
= 2,600,000
= 1,031,000
01 Al&HI 3,631,000 8,700,000 /5,069,000
OUsrSAcioy DSERME 2
3,631,000,000& *14] 3,631,000
= 2,600,000
[Ea 1,031,000
Ki202] O & OtAIOHR20= & B D = T3 2,875,060 2,219,780 655,280
< 400,000
[Ea 2,475,060
SHUTFE 22 25,860 19,780 6,080
201 el 17,460 11,380 6,080
01 At2teltl 16,500 10,400 5,100
ozl 5,600
~SAUEITFY 0RIZSX 24
8,0003 7 »100&! 5,600
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